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FIRMs AND MARKET STRUCTURES


[image: ]




1: Determine and interpret breakeven and shutdown points of production, as well as how economies and diseconomies of scale affect cost under perfect and imperfect competition.

Short run time period: This is the time in which at least one factor of production for example capital is fixed. We can only increase our production by increasing units of labor, as labor can be changed easily in comparison to capital.

Long run time period: It is the time. In which all factors of production are variable a firm can change its production by increasing units of capital and units of labor. 

All costs are variable in this time. For example a firm can increase its production by installing new plant and machinery, hiring new workers or it can reduce its cost by cutting down the plant and machinery.

Fixed cost:  It is the cost which does not change as the production level changes. This is true up to some extent for example rent of factory building. Owner of the factory has to pay fixed amount of rent regardless he produces 1 unit or 100 units.

Variable cost: It is the cost which changes with the change in production level. For example cost of raw material. When we produce more units of shoes we need more leather so the cost of leather increases (so it is variable cost).

Total cost = variable cost +fixed cost 

Average cost = Total cost / output

Average variable cost = variable cost / out put

Average fixed cost = Fixed cost / output

We can discuss shut down and break even points under two conditions.;

1. Shutdown and break-even point under perfect competition. 

2. Shut down and break-even point under imperfect competition.

Perfect competition is the situation in the market in which there are very large number of buyers and sellers and no one can affect the prevailing prices individually.

Imperfect competition: It is the market situation in which characteristics of perfect competition are not fulfilled. In this type of market structure there are many buyers but sellers are less than buyers. Depending on the degree of competition sellers have control over prices. Imperfect market structures include monopoly (with single seller) monopolistic competition (with many sellers) etc.

In coming LOS we will discuss these structures in detail.

Total revenues are price times quantity sold. TR = PxQ.

Average revenues = TR/Q 

Marginal revenues = change in TR by producing one extra output.

Shutdown and break-even point under perfect competition

Under perfect competition Average revenues = TR/Q = P =AR =MR

In short run time period if firm is covering its variable cost it should operate to minimize the cost. It means price is just enough to cover variable costs. If price is below than average variable cost then the firm should shut down temporarily (in short run).

In long run if price is less than its average total cost it should shut it down. 

Break even and shout down points by using marginal revenues and marginal cost approach

[image: image]

At point “a” the price P1 is just covering all costs so it is the breakeven point. At this point and above the firm should operate in short run and in long run. In the area below point “a” the firm should operate in SR as it is at least covering its variable cost. Below point “b” the firm should shut down its operations as it cannot cover both variable and total cost. 

We can deduce following points from above discussion.

In short run:

If P=>ATC it’s the breakeven

AVC<=P<=ATC firm should operate

P<AVC shut down

In long run:

If P=>ATC it’s the breakeven

AVC<=P<=ATC shut down

P<AVC shut down

<= means less than or equal to.

Shutdown and break-even point under imperfect competition

The break even and shutdown points can be explained in imperfect competition using MR and MC approach. Remember here we do not have MR =P. We have different curves of MR and AR which are downward sloping (not straight line as in perfect competition). 
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As shown in the above figure at point “a” price is equal to AC. At this point the firm is at break even. 

If firm is at break even the firm should operate in short run and in long run. 

If firm is in (b) figure`s position it should run in short run but should shutdown in long run as price is not covering total average cost but variable cost is being fulfilled. 

If even variable cost was not being covered then the firm should shutdown in short and in long run. 

How economies of scale and diseconomies of scale affect costs

We know that average total cost is U shaped. Long run average total cost curve (LRATC) is made up of joining minimum points of short run average total costs curves. LRATC shows larger scale of production. The minimum point of LRATC is known as minimum efficient scale. The firm should operate at this minimum efficient scale in long run. 

In perfect competition the price is equal to the minimum cost and firm earns zero economic profit (also known as normal profit). Production level other than this minimum efficient scale will produce losses. 

This LRATC curve decreases at first reaches at lowest point and eventually increases from that lowest point. The decreasing portion of LRATC curve is called economies of scale (also known as increasing return to scale).

LRATC decreases due to the factors which are only applicable in large production like labor specialization, massive production, use of more efficient equipments, most sophisticated machinery and plant and also discounts in raw material purchases. This reduction in cost makes the firm more competitive in the market.
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The area before minimum efficient scale is economies of scale. The area after the minimum efficient scale is diseconomies of scale. At diseconomies of scale marginal cost are increasing while marginal revenues are decreasing. The diseconomies of scale may prevail due to managerial issues (managing larger scale of production may cause inefficiencies), politics involved in big firms, motivation problems with larger workforce. 

A firm producing at level above than minimum efficient scale, need to reduce production to achieve Qe. 

Points very near to Qe there may be constant return to scale. It means we may have flat LRATC curve there. Constant return to scale means constant costs and constant marginal return in that range.

2. Describe characteristics of perfect competition, monopolistic competition, oligopoly, and pure monopoly


We have four major types of market structures. These market structures can be differentiated with respect to following factors.

  Number of firms in the market 


  Size of the firm 


  Type of elasticity of demand 


  Ways and degree of competition 


  Ease of entrance into the market



Perfect competition: In this type of market structure large numbers of small firms are producing identical products. New firms are free to enter into the market. There are no barriers for entrance into business. Because of very small size of a firm they have no control over prices. They can sell their entire product at prevailing market prices. So the firms are price taker. And they have perfectly elastic horizontal demand curve. As the products are identical, firms only compete on the basis of prices. Market of agricultural products like wheat, rice can be a good example of perfect competition. The market forces of demand and supply determines the price.

Monopolistic competition: This is the market structure in which many sellers are selling differentiated products. These products are differentiated on the basis of quality, brand name, features or marketing strategies etc. As products are differentiated they are not perfect substitutes.  Each firm has elastic (not perfectly elastic) downward demand curve. Also due to differentiated Products a small increase in prices would not make all customers to move away because people are brand conscious. As a result firm has some control over prices of their own product. Firms in this market structure make huge advertisement expenditure for their products to be more attractive. There are some barriers for new firm to enter into the market because the existing firms have occupied their customers who would not move to new products easily.

Oligopoly: This is the market structure where few but large producers are competing with each other. These firms may produce identical or differentiated products. As there are only a few number of firms in the market each firm considers the strategies and responses of other firms in setting their prices, quality and other features of the product. Each firm faces a downward sloping demand curve. Barriers to enter in the market are high. Operating system providers for smart phones, oil and gas Development Industry, auto industry are a good example of oligopoly. Google Android management must consider the Strategies and response of Apple iOS while making their own decisions. The competition in oligopoly market is based on prices brand name or product features.
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